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an 3 kL
a8 69 L
an 1L
20 3 cm
eh 4 cm
@ 18 mL
@3 13 kL
@4 7T com
@ 10 L
@0 15 mL
en 4 kL
o 14 L
©» 1 db
@0 14 m
@n 2 db
@ b m




HWROEME DR (BEX)
Z Al H H s VA
m 3 m® = 3 kL an 3 kL = 3 m
@ 35 mL = 035 d. e 69 L = 69000 mL
® 2 m? = 2000 L a1 L = 0001 m"
@ 4 d = 400 cm @ 3 em® = 003 dL
& 7 d = 0.0007 kL @) 4 cm® = 0000004 m°
© 13 m® = 13000000 mL @ 18 mL = 0000018 m’
m 7 kL = 7000000 mL @ 13 kL = 13000000 cm’
® 1 cm® = 0000001 KL en T em® = 0007 L
@ 2 m® = 20000 dL 5 10 L = 0.01 kL
10 85 kL = 85000 L 0o 15 mL = 0015 L
an - 9 cm = Q mL @n 4 kL = 4 m’
a2 11 mL = 11 cm 8 14 L = 14000 cm”
a3 57 dL = 5700 mL e 1 d. = 0.0001 m"
an 20 mL = 000002 kL G 14 m°® = 14 kL
a5 3 kL = 30000 dL @y 2 dl = 02 L
ae 10 L = 100 dL @ 5 m? = 5000000 cm"



